i H AN K4 gL k2 LR ik
100m SAnr—2 | I fERE(2) 2 fir 10.80 +1.7
el =) 3 10.81 +1.7
HA WG 51 10.87 +2.4
HE KO 74 10.92 +2.4
HH Q) 9 fir 10.95 +1.7
WA ATEQ) 10 fir 10.96 +2.4
FHROK—©2) 11 7 10.97 +2.4
1N S A1 6:)) 16 fir 11.14 +2.4
EH BAQ) 19 fif 11.19 +0.2
A &) 22 if 11.21 +2.4
JH  FHKER(2) 25 if 11.23 +1.0
M E(2) 26 ir 11.23 +0.6
AR BRYR() 29 ir 11.29 +0.8
KEF FHE(2) 31 {iL 11.32 +0.6
I A&X@) 36 {iL 11.35 +0.2
R BEVRER (1) 44 i1 11.49 +2.4
B FEEQ) 47 fr 11.52 +0.0
IR 5ik() 54 {if 11.57 +0.8
WA #E(3) 58 if 11.62 +0.7
VOS5 {(6)) 71 % 11.73 +0.6
fEhe ) 75 fiL 11.74 -0.8
) 96 fir 11.89 +1.0
SeH FEAGB) | 10147 11.92 -0.8
I @) | 10247 11.92 +1.0
AU #EQ) | 11147 12.04 +0.2
AU Fasi(2) | 186 L 12.18 +0.0
400m A4 nr—2 | R RUEQ) 1 {7 49.13
I R EB) 6 fir 50.46
R Ai(2) 8 fir 50.73
FEH EAQR) 10 i 50.98
B CER(3) 11 7 51.30
Z - UN ) 14 i, 51.83
W (1) 16 fir 52.50
etk A1) 23 it 53.03
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i H VAN K4 gL Bk LR ik
400m FAKL—2 |l KEH2) 25 fir 53.17
1500m SAnL—2 | KEQ) 3fr 4:07.89

JNi - (D) 4 fir 4:09.49
i H-oK() 5z 4:09.96
. BE(2) 6 ir 4:11.42
KA K1) 9 fir 4:12.71
JNAR HE A1) 10 fif 4:13.00
HAK BERH3) 11 i1 4:14.17
FEH HEE(3) 12 fif 4:15.36
HE —%&Q) 16 fif 4:16.01
P sEZR(1) 18 fi7 4:16.45
HH R (3) 19 fif 4:17.00
HEt KA (2) 23 it 4:23.72
SAR N {6)) 27 i 4:26.53
B 30 fir 4:29.84
R @) 31 {iL 4:30.81
IO IN)) 39 {if 4:36.13
B #iAQ) 49 fif 4:39.59
A 5LE) 60 fir 4:47.86
B RO 72 i1 4:55.98
A FERQ) 77 L 4:56.53
110mH ZAAL—2 | fEH2) 2 fir 15.92 -1.0
400mH A AL—2 | {EE EHL(2) 3 57.72
N BER(@3) 5 1:00.51
3000mSC | # 1 AL —= | HEHBKER3) 1L 9:42.31
W BEHE(L) 2 fir 10:00.96
FRE Q) 3fr 10:03.31
S HUHE(L) 4 ir 10:03.85
B KRB 5L 10:12.78
R Q) 6 fir 10:33.88
RS R (EDA 10:36.76
Juse MR 8 fir 10:42.09
P (L) 9 fir 10:49.20
e 2 (1) 13 fir 11:06.76
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i H VAN K4 gL Bk LR ik
3000mSC | # 1 sL—= | ZJI|  HHH2) 17 fir 11:34.41
— Bk PN AR fESR(2) 3 13mb56 +0.0
ot HERE) 8 fir 12m50 +0.0
DA RS LIl 526 (2) 3L 12m47
A CHEEQ) 4 fir 11m76
AZE Q1) 6 fir 9m94
REEEEe PN P b Zik(1) 1 {7 35m61
W R 4 fir 30m68
e () 6 fiL 28m94
SSlUE's R A OHEEQ) 3fr 44mb4
BEH - RO 6 fir 38m49
Ll 526 (2) 8 fir 36m20
P b ZFie(1) 11 i1 31m52
e AT 12 {1 30m53
Az 24D 1747 28m47
4X100mR | # A4 21 —= | HFA  HO) 1z 42.27
W AHE(3)
MIE Q)
el 12(3)
“H &K@ 3fr 42.68
Jr EE(2)
JH  FHAHRR(2)
FHROK—©2)
110 R 2 ¢)) 8 fir 43.53
g @)
Sm ARG
ST PNE))
(G EE R 6)) 16 fir 45.32

T 32R(3)
filss - F54k(3)
B b ZElk(1)
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i H vaAZZAN K4 JIEAE ALK JBE =
4x400mR | # A4 L —2= | R 5UE©Q) 2 fir 3:25.08
fHHE )
EH BAQ)
FEH EAR)
A MEE(1) 5 iz 3:26.43
#F HKQ
IR Bk
EAC A& (1)
i H VAN K4 gz Gk L i
100m FABL—Z | FIL o HERKQ) 141 11.90 +0.6
mh o EkEQ2) 31 12.33 +0.6
Fiy mEQ) 5 12.52 +0.0
R HEkQ) 6 fir 12.53 +0.6
ARH HTH(2) gRA 12.57 +0.0
A BR3E(2) 10 fi7 12.69 +0.6
/L B A (1) 12 fi7 12.85 +2.1
s =) 13 fir 12.89 +0.0
Re #HFEQ) 15 fif 13.00 +0.0
JFREF  JRHE(2) 16 fif 13.06 +0.9
fEm P& Q) 28 fif 13.46 +2.1
L EBAR2) 36 if 13.74 +0.2
H EAET(3) 89 {iL 14.73 +1.0
400m SAnr—2 | R FH1(3) 2 fir 57.09
HE O IEFHIQ2) 3fr 57.58
= v IHHETH(2) 4 ir 57.99
M =) 5 58.58
KB H22(1) 6 fir 1:00.12
BEO BRRE3) gRA 1:00.17
ZiE NERE) 8 fir 1:00.71
Al HRE5(2) 10 i, 1:01.65
AT BhEE(2) 11 7 1:01.91
=Bk N K EOZ272(1) 5fir 10m31 -0.3
fAH EES) 7L 9m51 -0.9
IBAIES S NI [ 5 B i AL(2) 1 iz 12m16

R g o — Hu X5 3 [mlRedRs




fEH AN K4 [[=¥ia Gk LR e
L DRI S >N ()] 2 fir 11m33
REEEEe PN Jé 5 2 i AL(2) 2 fir 38m55
UK PN iR E< 50) 2 fir 32m40

=N () 3fr 31m05

MIE Ere(3) 8 fir 28m00
4x400mR | #A4 sL—= | JED ZQ) 1 {7 3:56.07

HH O &HI©Q)

= v H#EI(2)

Kk FZ=(1)

Kbk k(1) 2 fir 4:08.41

Zig NERE)

fAH EAE3)

ks #Hi-(3)

BAr wRk(3) 4 ir 4:13.57

/< B A (1)

s Q)

R #iE)

fHm P& Q) 6 fir 4:16.09

A Bra(2)

mill AxE(2)

Ml %)
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